This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

Ward 6 - East Kilbride South

5,274

3

1,319

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
ARCHIE BUCHANAN	Scottish National Party (SNP)	1,948
MATHEW BUCHANAN	Labour and Co-operative Party	1,215
Ross GIBSON	Scottish Libertarian Party	31
Geri GRAY	Scottish National Party (SNP)	621
lain LECKENBY	Alba Party	57
Paul MCGARRY	Scottish Liberal Democrats	722
John MCKECHNIE	Scottish Greens - Think Global Act Local	154
Patrick NAILON	Scottish Conservative and Unionist	458
Jonathan RICHARDSON	Scottish Family Party Pro-Family, Pro-Marriage, Pro-Life	68
	Total	5,274

Candidate ARCHIE BUCHANAN Elected with 1,948 votes, being in excess of the quota of 1,319

This report contains the transfers results.

Stage 2 - Surplus of ARCHIE BUCHANAN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to MATHEW BUCHANAN	178	0.32289	57.47442
Transfer to Ross GIBSON	10	0.32289	3.22890
Transfer to Geri GRAY	1,494	0.32289	482.39766
Transfer to Iain LECKENBY	19	0.32289	6.13491
Transfer to Paul MCGARRY	52	0.32289	16.79028
Transfer to John MCKECHNIE	81	0.32289	26.15409
Transfer to Patrick NAILON	12	0.32289	3.87468
Transfer to Jonathan RICHARDSON	7	0.32289	2.26023
No further preference	95	0.32289	30.67455
Not transferred due to rounding			0.01028
	Total		629.00000

This report contains the transfers results.

Stage 3 - Exclusion of Ross GIBSON

Action	No. of Ballot Papers		Transfer Value	Votes Transferred
Transfer to MATHEW BUCHANAN	•	9	1.00000	9.00000
Transfer to Geri GRAY		2	1.00000	2.00000
Transfer to Paul MCGARRY		9	1.00000	9.00000
Transfer to John MCKECHNIE		2	1.00000	2.00000
Transfer to Patrick NAILON		2	1.00000	2.00000
Transfer to Jonathan RICHARDSON		2	1.00000	2.00000
Transfer to MATHEW BUCHANAN		2	0.32289	0.64578
Transfer to Geri GRAY		4	0.32289	1.29156
Transfer to Paul MCGARRY		1	0.32289	0.32289
Transfer to John MCKECHNIE		2	0.32289	0.64578
No further preference		5	1.00000	5.00000
No further preference		1	0.32289	0.32289
Not transferred due to rounding				0.00000
	Total			34.22890

This report contains the transfers results.

Stage 4 - Exclusion of Iain LECKENBY

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to MATHEW BUCHANAN	4	1.00000	4.00000
Transfer to Geri GRAY	21	1.00000	21.00000
Transfer to Paul MCGARRY	2	1.00000	2.00000
Transfer to John MCKECHNIE	9	1.00000	9.00000
Transfer to Patrick NAILON	3	1.00000	3.00000
Transfer to Jonathan RICHARDSON	7	1.00000	7.00000
Transfer to Geri GRAY	9	0.32289	2.90601
Transfer to John MCKECHNIE	3	0.32289	0.96867
Transfer to Patrick NAILON	1	0.32289	0.32289
No further preference	11	1.00000	11.00000
No further preference	6	0.32289	1.93734
Not transferred due to rounding			0.00000
	Total		63.13491

This report contains the transfers results.

Stage 5 - Exclusion of Jonathan RICHARDSON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to MATHEW BUCHANAN	14	1.00000	14.00000
Transfer to Geri GRAY	6	1.00000	6.00000
Transfer to Paul MCGARRY	7	1.00000	7.00000
Transfer to John MCKECHNIE	5	1.00000	5.00000
Transfer to Patrick NAILON	19	1.00000	19.00000
Transfer to MATHEW BUCHANAN	2	0.32289	0.64578
Transfer to Geri GRAY	1	0.32289	0.32289
Transfer to John MCKECHNIE	2	0.32289	0.64578
No further preference	26	1.00000	26.00000
No further preference	2	0.32289	0.64578
Not transferred due to rounding			0.00000
	Total		79.26023

This report contains the transfers results.

Stage 6 - Exclusion of John MCKECHNIE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to MATHEW BUCHANAN	32	1.00000	32.00000
Transfer to Geri GRAY	67	1.00000	67.00000
Transfer to Paul MCGARRY	23	1.00000	23.00000
Transfer to Patrick NAILON	4	1.00000	4.00000
Transfer to MATHEW BUCHANAN	10	0.32289	3.22890
Transfer to Geri GRAY	50	0.32289	16.14450
Transfer to Paul MCGARRY	7	0.32289	2.26023
Transfer to Patrick NAILON	1	0.32289	0.32289
No further preference	44	1.00000	44.00000
No further preference	20	0.32289	6.45780
Not transferred due to rounding			0.00000
	Total		198.41432

This report contains the transfers results.

Stage 7 - Surplus of MATHEW BUCHANAN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Geri GRAY	190	0.01272	2.41680
Transfer to Paul MCGARRY	399	0.01272	5.07528
Transfer to Patrick NAILON	182	0.01272	2.31504
Transfer to Geri GRAY	119	0.00410	0.48790
Transfer to Paul MCGARRY	11	0.00410	0.04510
Transfer to Patrick NAILON	4	0.00410	0.01640
No further preference	503	0.01272	6.39816
No further preference	58	0.00410	0.23780
Not transferred due to rounding			0.00240
	Total		16.99488

This report contains the transfers results.

Stage 8 - Exclusion of Patrick NAILON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Geri GRAY	11	1.00000	11.00000
Transfer to Paul MCGARRY	253	1.00000	253.00000
Transfer to Geri GRAY	4	0.32289	1.29156
Transfer to Paul MCGARRY	2	0.32289	0.64578
Transfer to Geri GRAY	3	0.01272	0.03816
Transfer to Paul MCGARRY	105	0.01272	1.33560
Transfer to Geri GRAY	1	0.00410	0.00410
Transfer to Paul MCGARRY	1	0.00410	0.00410
No further preference	222	1.00000	222.00000
No further preference	8	0.32289	2.58312
No further preference	74	0.01272	0.94128
No further preference	2	0.00410	0.00820
Not transferred due to rounding			0.00000
	Total		492.85190

This report contains the transfers results.

Stage 9 - Exclusion of Paul MCGARRY

1,042.47926

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Geri GRAY	207	1.00000	207.00000
Transfer to Geri GRAY	31	0.32289	10.00959
Transfer to Geri GRAY	70	0.01272	0.89040
Transfer to Geri GRAY	5	0.00410	0.02050
No further preference	809	1.00000	809.00000
No further preference	31	0.32289	10.00959
No further preference	434	0.01272	5.52048
No further preference	7	0.00410	0.02870
Not transferred due to rounding			0.00000
	Total		1,042.47926